
Page 1 of 2

Ford Wildtrack Mountain Top 
Roller Shutter Wedge Kit RTW02

Important: Please read these instructions carefully prior to installation.
Check the contents of this kit before commencing fi tment and report any discrepancies.

Important Information

Maximum carrying capacity: 25kg/55lbs evenly distributed over all crossbars. 
Please refer to your vehicle manufacturers handbook for maximum carrying capacity of your roof racks. 
 Always use the lower of the two fi gures.  Load must be evenly distributed over the crossbars. Maximum permissible 
load is 25kg/55lbs (including the weight of the crossbars, 5kg/11lbs). When roof racks are to be used in off-road 
conditions, please build a safety factor of 1.5 into this load limit, 17kg/37lbs for off-road conditions. Although the roof 
racks are tested and approved to AS1235-2000, road conditions can be much more rigorous. However, increasing 
the number of crossbars does not increase the vehicles maximum permissible roof loading. Do not attempt to fi t the 
crossbars to your vehicle unless you fully understand this fi tting instructions.  Please direct any questions regarding 
fi tting to the dealer from where the kit was purchased. Use only non-stretch fastening ropes or straps.

Recommendations:  It is essential that all bolt connections be checked after driving a short distance when you fi rst 
install your roof racks.  Bolt connections should be checked again at regular intervals (once a fortnight is enough, 
depending on road conditions, usage, loads and distances travelled).  You should also check the roof racks each time 
they are re-fi tted.  Always make sure to fasten your load securely.  Please ensure that all loads are evenly distributed 
and that the centre of gravity is kept as low as possible.  Long loads (e.g. canoes and kayaks) must be secured front 
and rear with non-stretch fastening ropes or straps.
Roof racks must be removed when putting vehicle through an automatic car wash.
Caution: The handling characteristics of the vehicle changes when you transport a load on the roof.  For safety 
reasons we recommend you exercise extreme care when transporting wind-resistant loads.  Special consideration 
must be taken into account when cornering and braking.
Note for Dealers and Fitters: It is your responsibility to ensure these fi tting instructions are given to the end user or client

Fitment Instructions
Item RTW02 Qty Part No.

1 M6 x 40mm Socket Head Cap Screw 8 B033
*2 M6 Spring Washer 8 W004
*3 M6 x 12.5mm Flat Washer 8 W003
*4 RLTP Leg 4 M057
5 RLTP Tray Spacer 4 M864
6 M6 Foam Special Nut 8 N018
*7 Torque Security Key Short 1 TORKEY-S
*8 M10 Channel Nut 1 N024
*9 M10 x 38mm Flat Washer 1 W022
*10 M10 Internal Shake Proof Washer 1 W021
*11 M10 x 25mm Hex Bolt 1 B071
12 Instructions 1 R1016

Tools Required:
- Torque Allen Key (provided).

Note: Bars and adaptor kits sold as separate. 

1.

*2.
*3.

*4.

5.

6.

*7.

*11.
*10.
*9.
*8.

Rhino-Rack
3 Pike Street, Rydalmere,   Document No: R1016 Fit Time: 15min
NSW 2116, Australia.  Prepared By: Kayle Everett Issue No:  02
(Ph) (02) 9638 4744    Authorised By: Chris Murty Issue Date: 01/08/2016
(Fax) (02) 9638 4822
These instructions remain the property of Rhino-Rack Australia Pty. Ltd. and may not be used or changed for any other purpose than intended.

Vortex Crossbar Setup Qty Part No.

Vortex Crossbar Adaptor 2 VAFK1
1500mm Vortex Crossbar 2 VA1500S/B
Heavy Duty Crossbar Setup Qty Part No.

1500mm Vortex Crossbar 2 VA1500S/B

*Parts supplied in other kits

rodr
Small Controlled



Ford Wildtrack Mountain Top Roller Shutter Wedge Kit RTW02

Page 2 of 2

1: Move to the tub of 
the vehicle. Remove the 
rubber plugs closest to 
the cabin in the tracks 
on either side of the tub.

2: With the plugs removed, slide four M6 Foam 
 Special Nuts in both sides, foam side down.

Install the Legs into the Foam Special Nuts as 
shown. Tighten with Torque Allen Key 
provided.

RLTP Leg

M6 Spring 
Washer
M6 x 12.5mm 
Flat Washer

M6 x 40mm 
Socket HD 
Security Screw

Tray Spacer

1 2

Note: 
High side 
of Spacer 
faces inside 
of vehicle.

3
700mm-800mm

The Crossbars should be spaced between 700mm 
and 800mm apart. 


